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Uncatalyzed reaction

Reaction pathway










K. =K, (RT)




Ea(f) —Ea(r) = AH" —An(g)RT= AE°
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K = PBT2e RT
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[CO(NH3 )5 Br]2+ + OH_—) Y gane




CH,COOGH +0H —> &Y suans




Br+H, —> HBp+H

2Br — Br,




H,0; +H" — H,0+HO

Fe®" + HO — Fe’ + HO™

HO +H" ™ - H,O

4Fe™ +0, +4H" > 4Fe™ +2H,0 IS ~S\5
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O+hv—s0 40 0 +0,—0+0;
Nehv—sN'+e O +N,—NO +N

O;+hv—0;+e  O;+N.—NO'+NO | O'+e —0+0
N,#hv—3sN4N  Nj+O—sNO'+N | NO'+e —sN+O
N;+0,— N, +0;

0,+hv—s0;+0  O;+N,—NO +NO
Nothv—sNite N +O—NO +N
.N;a-.Q,-—rN?-i--O; N

_q,;o_-_m_-—.;o +0
. Oy+hv—30,+0




0,+ hv (h<242nm) 15 0 +0

Rate _; _ | _
Constant 7! ‘j o1 ()1 (1) o (1) d
spectrum

=[photons/cm2.sec.nm]

=[cm2/molecule]




0+02 +M —&2—)03 +M

O3 +hv(A <320nm ) 13 02 +0




0+0y +M _kL_,os Sk
03 +hv (L <320nm )—3 50, +0
0+034k—)02 +02

%= 2j1[02]+ j3[03 ]~ 10Kk 2[02 JM|+k 403 )= 0

05|k 10Koz 1M 1-Js[05] 41010510

__2j1[02]+i305]
1Oks =110 M T+k 4103

_k2[0][02 M|

0sks j3 —k4[0]
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[03 s =[02][j_1]l[1 +4d352 )y ]J1 "

[02] = 10175 molecule/cm3
[M] = [O2] + [N2] ~ 1018 molecule/cm 315 yLe s >

j1 = 10-11.6 molecule-1-sec -1 -

J3 = 10-35 molecule-1-sec-1

kz = 10-327 cmb molecule2 sec-!
kg = 10-14.9 cm3 molecule! sec-1

:‘1—!“) _3‘ L.sﬁ {" ) _313’ *w

J:iEZ[M]_, 1079 >> 1
1 kg

: 172
[03] — [02] G—] :2 [M]) ~ 10128 moleggsles at 30 km
3 K4 cm




O+ H,O — OH + OH
O+ CHg4 — CH3 + OH OH + O3 - HO2 + 0
HO, + O - OH + O

0+ Oz~ 205

O (ID) + N,O - NO+NO  NO + 03— NOz + 0,
NO, + O = NO + 05

- Photolysis of O3 O+ 03— 20;




(CFC-12) CCloF5 + hv (i< 220 nm) — CF Cl + Cl
CCIze +0 - CFzCI + ClO

(CFC-11)  CClF Cl+03 = ClO + 0,
ClO+0 = Cl + 0,

0+ 03 - 20;




Molina
& Molina
1987

Net reaction:

McElroy
et al.,

1986

Net reaction:

ClO+ClIO+M — Cl02+ M
hv + CIzoz —Cl+ CIOZ
ClO, + M —Cl+ Oy + M
2[Cl + O3 > CIO + O3]

203 — 302

Bl“+03—)BI“O+02
Cl+ 03— ClO + O,
ClO + BrO — Cl + Br + O

203 — 302
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